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/* connectl (C->S): devid + apikey */

EdpPacket* PacketConnectl(const char* devid, const char* auth_key)
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/* connect2 (C->S): userid + auth_info */

EdpPacket* PacketConnect2(const char* userid, const char* auth_info)
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2.3.7 AT+CIOTKEY
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POST /devices HTTP/1.1
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/* connectl (C->S): devid + apikey */

EdpPacket* PacketConnectl(const char* devid, const char* auth_key)

/* connect2 (C->S): userid + auth_info */

EdpPacket* PacketConnect2(const char* userid, const char* auth_info)

3.3.11 AT+CIOTDAT

VM. $RQTIRR KIS/ NI G —K EEEAS)

Tt KIZEHE

fE TEAff P 8
AT+CIOTDAT=[num,kay_1,time_1,value_1... | +OK<CR><LF>
kay_n,time_n,value_n]<CR> B R M N
+ERR=-108<CR><LF>
+ERR=-110<CR><LF>

4.

Num:$di il A
key: B RFEEZFR
time: H4E R AL (7]
value: (B FHFEE

Vi :
WFIAA% R 40 2016-01-01 00:00:00 A HFA- 70k W3 #0 " 205




U0V RAERSTE], DU (A UANIE, 4% XA AT+CIOTSTART=[kay,,value]<CR>

3.3.16 AT+CIOTSEND

VLB ROE/NEEE, KRR EAEEA

hfig: RIERAEEAE

ST AR
AT+CIOTDAT=[encrypt,num,kay_1,time_1,v | +OK<CR><LF>
alue_1...kay_n,time_n,value_n]<CR> ARV <
+ERR=-108<CR><LF>
+ERR=-109<CR><LF>
+ERR=-110<CR><LF>
+ERR=-111<CR><LF>

4.

encrypt: A& &M%
num: HE il R
<0, A
1, nE

key: B RFEEZFR
time: 4 AL ]
value: (4B FHFEE

i B :
AR 41 2016-01-01 00:00:00 4E H H /- /3F& B3 A0 43 b
VA SRAERT R, DU AT ANIE, 4% A AT+CIOTSEND=[encrypt,kay, value]<CR>




	2.2 错误码定义
	2.3.2 AT+CIOTMKEY
	2.3.5 AT+CIOTID
	2.3.5 AT+CIOTSN？
	2.3.6 AT+CIOTIDC
	2.3.6 AT+CIOTSN
	2.3.7 AT+CIOTKEY
	2.3.7 AT+CIOTPID？
	2.3.8 AT+CIOTKEYC
	2.3.8 AT+CIOTPID
	2.3.1 AT+CIOT
	2.3.4 AT+CIOTINIT
	2.3.4 AT+CIOTINIT
	2.3.10 AT+CIOTSTART
	3.3.11 AT+CIOTDAT
	3.3.16 AT+CIOTSEND


